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1. A differential equation is considered to
be ordinary if it has
(2 Points)

c. One independent variable

d. More than one independent
variable

b. More than one dependent
variable

a. One dependent variable
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2. Find the 2nd order differential equation
whose general solution is given by

1. y(x) = Ae*(-2x)+Be*(x)

2. y(x) = Ae*(-2x)+Be?(x)+x(*2)
(Non-anonymous question ) )

(4 Points)

Scanned with CamScanner



3. Find the general solution of: y'- 4y'+4y =
12x*(-4)e*(2x) (Non-anonymous question(® )
(5 Points)
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4. The differential equation y"+3y'+2xsin(5y)
= e(-2x) is considered to be *
(2 Points)

c. Nonlinear with variable
coefficients and
nonhomogeneous

b. Nonlinear with constant
coefficients and homogenous

a. Linear with constant
coefficients and homogenous

d. linear with constant
coefficients and nonhomogenous
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5. Find the general solution of : y*-(1/x) y =
1/(2y) (Non-anonymous question(®)
(5 Points)
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6. Classify the following differential
equation:; e*(x) y' + 3y = yx"2
(3 Points)

a. Separable and not linear.
b. Linear and not separable
c. Both separable and linear

d. Neither separable nor linear
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7.Solve the following equation: xy'+2y = 4x

(Non-anonymous question(d) )
(4 Points)

1 Upload file

File number limit: 1 Single file size limit: 100MB Allowed file
types: Word, Excel, PPT, PDF, Image, Video, Audio
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8. Solve the following IVP: y" + 4y' = e*(x) ;
y(0) = 0 y'(0) = -4 (Non-anonymous question(® )
(5 Points)
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The form of the particular solutionof v'' — v’ — By = xsin(x) is

O _\-p:_\'[('(')r'«[:\' ) +sin(x))

) Vo= (Ax + B)cos(x) + (Cx+ D)sin(x)
@ }.p. (Ax+ B)cos(x) + (Ax + B)sin(x)

O Yp = (Ax+ B)cos(x)
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)
The integrating factor for the following equation xv’ + 2v = 10x°

O u :&_:{
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Ix

Find the differential equation v'* + by’ — ¢y = ( given the basis of solutions y1= land yy =e
@ y' 13y’ =0
O y'+3y=0
O y+3=0
O y'+38y+2=0
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Which of the following is the general solutiontoy”" | 4v' =10

@ y ('-lt'u:;[ 2x) r-._,.f~i11{ 2x)
O v c]u-l:\' ; L:}U--h'

O Yy =c¢1 +coe &

O V=cx+cge
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7 3
The general solution to v' — v* = () has the from

O y _ c -

@
O y-3k
O
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The general soluticn to v" — xv = () has the form:

@ ce (5
O .-«

L) &=

O cet¥)
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If the roots of the characteristic equation are (—10,10 ),then the complementary solution is

O Y. =¢| +coln(x)e 10x

O Ve = (01 * €oX }PH]‘?{
O v (<] lc'_'xlc_l”x

c

@ y :(1‘? '].0'_‘\. _:_‘__2910.'\

C
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Classify the following differential equation. ™y’ + (3 — x? ]_\? =0
@® Separable and not linear.
(O Both separable and linear.
O Linear and not separable.

() Neither separable nor linear.

Scanned with CamScanner



Which of the following is an exact differential equation.

O (x+y)dx—dy=0
O v¥x+(2x-2y)dy=0
@ oxydx - (x*+3 Jdy =0

O 3ydx—3xdy=0
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The solution to ¥’ — 3x2 — 9 =  satisfying v(1) = 2 is given by
O " G x% +9x — 8
O y-x3+8x-9
© = %9 4 9% — 98

O :\':.‘-f-'}‘--_\'x__l_,_)
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The general solution of v'" — 4y’ + 4y = e™ when solved using method of undstermined coefficients is
.')_‘_ =
O y = (c1+cox)e”" + 2e
— D -
o Y= (_'.-lt' 2x -+ (-.76' s - B t:'\
X

Ve
@ Y= (¢ tcox)€& )

O v . N 2x
_\—-[(-l‘—L:;.‘\}':’ -+ 2
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The differential equation v + 3y’ + '_?x}-'z — e 2% is considered to be -
O Nonlinear with constant coefficients and homogeneous
@ Nonlinear with variable coefficienls and nonhomogeneous
(O Linear with constant coefficients and homogenous

(O Linear with variable coefficients and nonhomogeneous
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The complementary sclution to v'" + 4y

@® v, =Acos(2x) + Bsin(2x)

Acos(x) +Bsin(x)

Acosh(2x) + Bsinh(2x)

Acosh(x) + Bsinh(x)

tan(200x) is
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8B

Apps

Helpy

Question 1/2

Use Laplace transforms to solve

v'+d4y =8t, v0)=3 v(0)=0

Answer:

9 0 Paragraph v B [l & Jx

p

SUBMIT ANSWER

B erzxz Q@ AV’V.'OI.

0 WORDS POWERED BY TINY P
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< Test: ChEQ05201_Math_Summe... e«

\‘y \.\.-JL'JUI weAL

Time left to complete the test: 0 h 22 min. 12 sec.

Question 2/2 (10p)

Solve the following system of
differential equations

Answer:

€ 2 | Paragraph v B Pl &

p 0 WORDS POWERED BY TINY |

SUBMIT ANSWER
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